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1 Way forward
· For non-UL MIMO, 32 BD trials are equaly split between TM dependent DCI (like 2, 2a, ...) and DCI format 0/1A. So each DCI has 16 BD trials.
· K=2. KL and KD have following combinations: { KL = 1, KD = 1}, { KL = 0, KD = 2}, { KL = 2, KD = 0}.
· If hash function is used for the starting position of EPDCCH candidate, starting position of  EPDCCH candidate in two EPDCCH set is different. 
· Alt 1) different hash functions between two EPDCCH sets
· Alt 2) starting position of second EPDCCH set is decided by the offset from first EPDCCH set. This to be concluded in RAN1#71.
· N=2,4,8
· Aggregation level 32 is not supported even in available number of RE < Xthresh
· to discuss N=16 is supported or not on line
· to discuss alt 1 or alt 2 on-line
1.1 Alt 1
· 1bit RRC configuration
Table. 1  Table for table 2 entory
	Localized or distributed
	Two EPDCCH set size are equal or different
	1 bit RRC indication 
	≥Xthresh
	<Xthresh

	KL
	KD
	
	
	DCI format 0/1A 1, 1B, 1D
configuration
	DCI format  2, 2A, 2B, 2C
configuration
	DCI format 0/1A 1, 1B, 1D
configuration
	DCI format  2, 2A, 2B, 2C
configuration

	1
	1
	equal
	0
	0?
	?
	0?
	?

	1
	1
	equal
	1
	1?
	?
	1?
	?

	1
	1
	different
	0
	?
	?
	?
	?

	1
	1
	different
	1
	?
	?
	?
	?

	0
	2
	equal
	0
	?
	?
	?
	?

	0
	2
	equal
	1
	?
	?
	?
	?

	0
	2
	different
	0
	?
	?
	?
	?

	0
	2
	different
	1
	?
	?
	?
	?

	2
	0
	equal
	0
	?
	?
	?
	?

	2
	0
	equal
	1
	?
	?
	?
	?

	2
	0
	different
	0
	?
	?
	?
	?

	2
	0
	different
	1
	?
	?
	?
	?


Table. 2  Table for  EPDCCH set/BD/aggregation level

	Configuration

by table 1
	EPDCCH set
	1
	2
	4
	8
	16

	0
	0
	?
	?
	?
	?
	?

	
	1
	?
	?
	?
	?
	?

	1
	0
	?
	?
	?
	?
	?

	
	1
	?
	?
	?
	?
	?

	2
	0
	?
	?
	?
	?
	?

	
	1
	?
	?
	?
	?
	?

	··  P
	0
	?
	?
	?
	?
	?

	
	1
	?
	?
	?
	?
	?


P(the number of row) is FFS
1.2 Alt 2
· 0 bit RRC configuration
Table. 1  Table for table 2 entory

	Localized or distributed
	Two EPDCCH set size are equal or different
	≥Xthresh
	<Xthresh

	KL
	KD
	
	DCI format 0/1A 1, 1B, 1D
configuration
	DCI format  2, 2A, 2B, 2C
configuration
	DCI format 0/1A 1, 1B, 1D
configuration
	DCI format  2, 2A, 2B, 2C
configuration

	1
	1
	equal
	?
	?
	0?
	?

	1
	1
	equal
	?
	?
	1?
	?

	1
	1
	different
	?
	?
	?
	?

	1
	1
	different
	?
	?
	?
	?

	0
	2
	equal
	?
	?
	?
	?

	0
	2
	equal
	?
	?
	?
	?

	0
	2
	different
	?
	?
	?
	?

	0
	2
	different
	?
	?
	?
	?

	2
	0
	equal
	?
	?
	?
	?

	2
	0
	equal
	?
	?
	?
	?

	2
	0
	different
	?
	?
	?
	?

	2
	0
	different
	?
	?
	?
	?


Table. 2  Table for  EPDCCH set/BD/aggregation level

	Configuration

by table 1
	EPDCCH set
	1
	2
	4
	8
	16

	0
	0
	?
	?
	?
	?
	?

	
	1
	?
	?
	?
	?
	?

	1
	0
	?
	?
	?
	?
	?

	
	1
	?
	?
	?
	?
	?

	2
	0
	?
	?
	?
	?
	?

	
	1
	?
	?
	?
	?
	?

	··  P
	0
	?
	?
	?
	?
	?

	
	1
	?
	?
	?
	?
	?


P(the number of row) is FFS

Annex: Analysis of payload size and coding rate. 
Code rate for the different DCI formats at different BWs for 3 indicative numbers of available REs per ECCE – 26, 30, and 36 (the last one to serve as reference for the PDCCH). 

Assumption of the calculaiton is aperiodic SRS trigger to be present and CIF to not be present. 

 ‘S’ is the size of the DCI format and ‘r’ is the code rate for 26/30/36 available REs.
DCI Formats 0/1A/1B/1D can be grouped together and the same holds for DCI Formats 2/2A/2B/2C.
Format 1 does not fit well with other formats at all BWs but it is not optimized. It is grouped with 0/1A/1B/1D.
Thanks to Aris for this calculation/analsys.
	 
	1.4MHz
	5MHz
	10MHz
	20MHz

	Format 0/1A
	S=37 – r=0.71/0.62/0.51
	S=41 – r=0.79/0.68/0.57
	S=43 – r=0.83/0.72/0.60
	S=45 – r=0.87/0.75/0.63

	Format 1B/1D
	S=38 – r=0.73/0.63/0.53
	S=43 – r=0.83/0.72/0.60
	S=44 – r=0.85/0.73/0.61
	S=46 – r=0.88/0.77/0.64

	Format 2
	S=47 – r=0.90/0.78/0.65
	S=55 – r=1.06/0.92/0.76
	S=59 – r=1.13/0.98/0.82
	S=67 – r=1.29/1.12/0.93

	Format 2A/2B
	S=44 – r=0.85/0.73/0.61
	S=52 – r=1.00/0.87/0.72
	S=57 – r=1.10/0.95/0.79
	S=64 – r=1.23/1.07/0.89

	Format 2C
	S=46 – r=0.88/0.77/0.64
	S=54 – r=1.04/0.90/0.75
	S=58 – r=1.12/0.97/0.81
	S=66 – r=1.27/1.10/0.92

	Format 1
	S=35 – r=0.67/0.58/0.49
	S=43 – r=0.83/0.72/0.60
	S=47 – r=0.90/0.78/0.65
	S=55 – r=1.06/0.92/0.76

	Format 4
	S=44 – r=0.85/0.73/0.61
	S=48 – r=0.92/0.80/0.67
	S=50 – r=0.96/0.83/0.69
	S=52 – r=1.00/0.87/0.72


